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OCL Frame Joint - Adjusting

A. Aim
Adjust the OCL frame joint.

Tools
6 mm wrench

How to Identify / Parts

The OCL Joint has the OCL Security Knob (1) mounted on the OCL Lever (2) and has an OCL Lever Open End (3) and an

OCL Adjustment Bolt (4).

B. Slide the OCL Security Knob and open the OCL Lever, then partially fold the bicycle. Locate the OCL Adjustment Bolt.

C. Close the OCL Lever , the force required to close should be 60~80 N from the OCL Lever Open End.

D. If the OCL Lever requires too much force to close, rotate the OCL Adjustment Bolt a quarter turn (1/4) upward (the OCL
Adjustment Bolt should shorten). If the OCL Lever requires too little force to close, rotate the OCL Adjustment Bolt a
quarter turn (1/4) downward (the OCL Adjustment Bolt should lengthen).

A Riding with an improperly adjusted Frame Joint may damage the frame or cause rider injury.

Articulacion de cuadro (marco) OCL - Ajuste

A. Objetivo

Ajustar la articulacion del cuadro OCL.

Herramientas
Llave de 6 mm

Como ldentificar / Partes

La articulacién OCL tiene el botdn de seguridad OCL (1) montado en la palanca OCL (2) y tiene un extremo de apertura
de palanca OCL (3) y un tornillo de ajuste OCL (4).

B. Desliza el botdn de seguridad OCL y abre la palanca OCL, entonces pliega parcialmente la bicicleta. Localiza el tornillo

de ajuste OCL.

C. Cierra la palanca OCL, la fuerza necesaria para cerrar debe ser de 60 ~ 80 N en el extremo de apertura de la palanca

OCL.

D. Si la palanca OCL requiere de mucha fuerza para cerrarla, gira el tornillo de ajuste OCL un cuarto de vuelta (1/4) hacia
arriba (el tornillo de ajuste OCL se debe acortar). Si la palanca OCL requiere de muy poca fuerza para cerrarla, gira el
tornillo de ajuste OCL un cuarto de vuelta (1/4) hacia abajo (el tornillo de ajuste OCL debe alargarse).

A Pasear con la articulacién de cuadro ajustada inadecuadamente puede dafiar el cuadro o causar lesiones al ciclista.
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Joint du cadre OCL - Réglage

A. Objectif
Ajuster le joint du cadre OCL.

Outils
Tourne-a-gauche de 6mm

Identification / Piéces
Le joint OCL ets doté d'une poignée de sécurité OCL (1) montée sur le levier OCL (2), d'un levier OCL en position
ouverte (3) ainsi que d'un écrou de réglage OCL (4).

B. Faites glisser la poignée de sécurité OCL et le levier OCL, puis pliez partiellement le vélo. Fixez I'écrou de réglage OCL.
C. Repliez le levier OCL, la force nécessaire doit étre de 60 a 80 N lorsque le levier OCL est en position ouverte.

D. Sile levier OCL est trop difficile a placer en position fermée, faites pivoter I'écrou de réglage OCL d'un quart de tour
(1/4) vers le haut. Si le levier OCL est trop facile a placer en position fermée, faites pivoter I'écrou de réglage OCL d'un
quart de tour (1/4) vers le bas.

A Rouler avec un joint mal ajusté peut endommager le cadre du vélo ou provoquer des blessures graves.

Trava de Quadro OCL - Ajuste

A. Objetivo
Ajustar a Trava de Quadro OCL.

Ferramentas
Chave de 6 mm.

Como identificar as Pecas
ATrava de Quadro OCL possui um Comando de Seguranca OCL (1) montado na Alavanca OCL (2), uma Alavanca Aberta
OCL(3) e um Parafuso de Ajuste OCL (4).

B. Gire o Comando de Seguranga OCL, abra a Alavanca OCL, e entéo, dobre parcialmente a bicicleta. Localize o Parafuso
de Ajuste OCL.

C. Feche a Alavanca OCL. A forga exigida para o fechamento deve ser de
60~80 Nm a partir da Alavanca Aberta OCL.

D. Se a Alavanca OCL exigir muita forga para ser fechada, gire o Parafuso de Ajuste OCL a um quarto de volta (1/4) para
cima (o Parafuso de Ajuste OCL sera encurtado). Se a Alavanca OCL exigir forca minima para ser fechada, gire o Parafuso
de Ajuste OCL a um quarto de volta (1/4) para cima (o Parafuso de Ajuste OCL sera prolongado).

A Utilizar a bicicleta com a Trava de Quadro mal ajustada pode danificar o quadro ou causar ferimentos ao ciclista.
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Einstellung des OCL-Rahmenscharniers

A. Ziel
Einstellung des OCL-Rahmenscharniers.

Werkzeuge
6 mm Schraubenschlissel

So identifizieren Sie die Teile
Bei dem OCL—Ra}_hmenscharnier ist der OCL-Sicherheitsknopf (1) auf dem OCL-Hebel (2) montiert. Dazu verfigt es tber
ein OCL-Hebel-Offnungsende (3) und einer OCL-Einstellungsschraube (4).

B. Schieben Sie den OCL-Sicherheitsknopf und 6ffnen Sie den OCL-Hebel. Falten Sie dann das Fahrrad teilweise.
Lokalisieren Sie die OCL Einstellungsschraube.

C. SchlieBen Sie den OCL-Hebel. Die zum SchlieBen benétigte Kraft sollte 60~80 N vom OCL-Hebel Offnungsende
betragen

D. Wenn der OCL-Hebel zu viel Kraft zum SchlieBen benétigt, drehen Sie die OCL-Einstellungsschraube eine Viertel
Drehung (1/4) nach oben (die OCL Einstellungsschraube sollte kirzer werden). Wenn der OCL-Hebel zu wenig Kraft
zum SchlieBen benétigt, drehen Sie die OCL-Einstellungsschraube eine Viertel Drehung (1/4) nach unten (die OCL
Einstellungsschraube sollte langer werden).

A Das Fahren mit einem falsch eingestellten Rahmenscharnier kann dazu fiihren, dass entweder das Fahrrad beschadigt
wird oder der Fahrer sich Verletzungen zuzieht.

OCL Framegrendel - Afstelling

A.Doel
Afstellen van de OCL framegrendel.

Gereedschap
6 mm moerssleutel

Hoe de onderdelen te herkennen

De OCL grendel heeft een schuifbare OCL beveiligingsknop (1) bovenop de OCL hevel (2), een OCL hevelkop(3) en een

OCL afstellingsbout (4).

B. Open de OCL beveiligingsknop, open de OCL hevel, vouw dan de fiets gedeeltelijk in. De OCL afstelbout wordt
zichtbaar.

C. Sluit de OCL hevel, de vereiste kracht voor het sluiten zou 60~80 N moeten zijn gemeten vanaf de OCL hevelkop.

D. Als u teveel kracht nodig heeft om de OCL hevel te sluiten, verdraai de OCL afstelbout dan een kwartslag (1/4) naar
boven. (de OCL afstelbout zou dan korter moeten worden) Als u te weinig kracht nodig heeft om de OCL hefboom te
sluiten, verdraai dan de OCL afstelbout een kwartslag (1/4) naar beneden. (de OCL afstelbout zou dan korter moeten

worden)

A Fietsen met een onjuist afgestelde framegrendel kan het frame beschadigen of kan letsel tot gevolg hebben.
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Nodo del telaio OCL - Regolazione

Scopo
Regola il nodo del telaio OCL.

Strumenti
Chiave da 6 mm.

Come identificare le parti
I nodo del telaio OCL ha una manopola di sicurezza OCL (1) montata sulla leva OCL (2), ed ha una estremita della leva (3)
ed un bullone di regolazione OCL (4).

. Fai scorrere la manopola di sicurezza OCL ed apri la leva OCL, quindi piega parzialmente la bici. Trova il bullone di

regolazione OCL.

. Chiudi la leva OCL, la forza richiesta per chiuderla dovrebbe essere tra 60~80 N dalla estremita della leva OCL.

. Se la leva OCL richiede troppa forza per chiuderla, ruota il bullone di regolazione OCL un quarto di giro (1/4) verso l'alto

(Il bullone di regolazione OCL dovrebbe accorciarsi). Se la leva OCL richiede troppo poca forza per chiuderla, ruota il
bullone di regolazione OCL un quarto di giro (1/4) verso il basso (Il bullone di regolazione OCL dovrebbe allungarsi).

A Usare la bici con un telaio non correttamente regolato potrebbe danneggiare il telaio o causare delle lesioni al ciclista.
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ApBpwon okeletou OCL - PUOULION

KOO
PUBWLON TG ApBpwong tou okehetov OCL.

Epyadeia
KA&lSL 6 XA

Nwg va evionioete Ta eaptripata
H &pBpwon OCL anoteleital and tn AaBr aodaleiog OCL (1) mou otnpiletat oto poxAd OCL (2) kat amoteleitat and éva poxho OCL
QAVOLKTOU GKpou (3) kat éva urtoulove puBbuiong OCL (4).

. ZUpete tn AaPn aodaleiog OCL, avoifte to poxAd OCL, kaL oTn CUVEXELD SUTAWOTE eV HEPEL TO TTOSHANTO.EVTOTILOTE TO UITOUAGVL

pUBUIoNG OCL.

. K\eiote to poxA6 OCL. H mieon mou amatteitat Kavovikd yia va KAelogL aro to poxAd avolktol dkpou OCL givat petaft 60 kat 80 N.

Edv o poxAog OCL xpetdletat ohU mtieon yia va kKAeioel, meplotpédte To unouldvt puBuiong OCL éva tétatpo tng otpodng (1/4) mpog
Ta MAvw (to PmouAovL pubuiong OCL ehattwvetat). EQv o poxAdg OCL xpelddetat Aiyn mieon yia va KAeioeL, TePLOTPEYTE TO UITOUAGVL
pUBULONG OCL €va tétatpo TG otpodng (1/4) mpog Ta KAtw (To urtouAdvt puBuLong OCL empunkUvetat).

A Nodnhaoia pe AavOacpéva pubuiopévn dpBpwon oKeAEToU Unopel va MPoKaAEoeL {NILA 6TO OKEAETO 1 TPAUHATIONO TOU avapdrn.
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CouneHeHue pambl OCL Frame Joint — PerynupoBka

. Uenb

OTperynupyiite cucTemy CKnaabiBaHus Ans Bawei 6esonacHocTv 1 yaobcTea

UHcTpymeHTbI
POXKOBbIM KAtOY Ha 6 MM

Yactn
Counexenue OCL frame joint cogepxut pbidar OCL Security Knob, Heobxoaumbiit Ana npefoTBpalleHus HenpeaHaMepeHHoro
CKnaabiBaHus (1), M OCHOBHOM pblyar MexaHU3ma CKaaabliBaHus (2) c cBo6oaHbIM KOHLOM (3) a TakxKe 60AT perynnposku (4).

. CaBuHbTe pbiyar OCL Security Knob, noTAHMTe 3a r1aBHbIN pbluar MexaHU3Ma CKIaAbIBaHUA M YacTUYHO CI0XUTe Benocvnes,. Haaute

pPerynvpoBoYHbIi 60T.

. 3aKpOiiTe rNaBHbIM pbldar MexaHM3ma CKNaaplBaHusA, CUaa, Npuaaraemas ans atoro, AOMKHa 6biTb B npesenax 60 — 80 H

. Echv ansa cknapplBatuna (aeictema polyara) HEO6XOAMMO NPUNOKUTL CAMULLKOM BONbLUYIO CUAY, NOBEPHUTE PETYMPOBOYHbINA 60T Ha

4yeTBEPTb 060POTa BBEPX (60T AONKEH YKOPOTUTLCA). ECAM ANA cknafbiBaHUA (BeiCTBUA pbluara) HEOBXOAMMO NPUNOKUTL CULIKOM
Manyto Cuay, NOBEPHUTE PEryIMPOBOYHbINA 6ONT Ha YeTBepTb 060poTa BHM3 (6ONT AOMKEH YANMHUTLCA). [Py HeoBxoaMMOCTH
NoBTOPUTE PEryMpoBKY

A E3pa c HenpaBUNIbHO HAaCTPOEHHBIM MEXaHM3MOM COYIEHEHUA MOKET NOBPEAUTb MEXAHM3M UM NPUYUHUTD yseudbsa

Benocuneaucry.
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